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Candidates are required to give their answers in their own words
as far as practicable.
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1.

3.

[ English Version ]
The figures in the margin indicate full marks.

Module - I
Marks : 50
Answer any ten questions : 1x10
(a) Name a single stranded DNA virus.
(b) Name one Bacterium which produces Acetic Acid.
(c) Which group of bacteria shows mycelial structure?
(d) What is pyrenoid?
(e) In which class of Algae the motile gametes are absent?
(f) What is Diatomite?
(2) What is Mycobiont?
(h) Distinguish between Ascus and Basidia.
(i) Mention one important feature of Deuteromycotina.
(i) What do you mean by hyperplastic symptom?
(k) What is Biotroph?
() What is disease triangle?
(m) Mention the matured product of endothecium in Anthoceros sporophyte.
(n) Name one aquatic species of Hepaticopsida.

(o) What is operculum?

Answer any two questions : 5%2
(a) Discuss in brief the mode of transmission of plant virus.

(b) Describe male reproductive structure of Chara.

(c) Write a note on economic importance of Lichen.

(d) Write a note on Koch’s postulates.

(e) Characterize the class Anthocerotopsida.

Answer any three questions :

(a) Describe the structure of T-4 Phage virus with labelled diagram. Distinguish between the cell wall
of gram positive and gram negative bacteria. 6+4

(b) Give two diagnostic features for each of Cyanophyceae, Rhodophyceae, Chlorophyceae and
Phaeophyceae. State the systematic position of Chara according to Lee (1999). 8+2
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(c) With suitable illustrations describe the sexual reproduction of Rhizopus. Mention economic importance
of the genus. 8+2

(d) Mention the scientific name of Pathogen, Primary Host and Secondary Host of Black Stem Rust of
Wheat. Describe the disease cycle with word diagram. Name one disease resistant variety of Wheat,

Mention the control measures of the disease. 3+3+1+3
(¢) Why Bryophytes are called amphibians of plant kingdom? Describe the structure of gametophyte of
Marchantia with suitable illustration. 3+7
Module - II
Marks : 50
. Answer any ten questions : 1x10

(a) What is rhizophore?

(b) What do you understand by microphillous leaf?

(c) What is heterospory?

(d) Mention two angiospermic characters of Gretum.

(e) What is coralloid root?

(f) What are the differences between endosperm of gymnosperm and angiosperm?
(g) What is living fossil?

(h) In which types of fossil internal structure of plant is preserved?

(i) Name one Indian species of Cycas.

(i) Name the book in which Bentham and Hooker first published their proposed system of classification.
(k) Differentiate true fruit and false fruit.

(I) Name a plant where helobial endosperm is found.
(m) In which family marginal placentation occur?

(n) Name one family which can be identified by its inflorescence.

(0) What type of stipule is present in Rubiaceae?
Answer any two questions : 5x2
(a) State the important characters of the class Filicopsida.

(b) Write down the structure of the ovule of Cycas with suitable diagram.

(c) Why Asteraceae is considered as the most advanced family among dicotyledons?
(d) Discuss different types of placentation with suitable diagrams.

(e) Write in brief the infiltration theory of fossil formation.
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6. Answer any three questions : | 10x3
(a) Describe structure of strobilus of Selaginella. Describe the characters of Sphenophyta. Mention one
extinct and one extant genera as example. 4+4+2

(b) What is ‘Sulfur Shower’? Draw a microspore of Pinus. Mention the characters of Progymnosperms.
How many prothallial cells are formed in Cycas and Pinus? 2+2+4+2

(c) Describe the structure of reconstructed Williamsonia. What is Form-Genus? 8+2

(d) Describe the embryo development in Capsella bursa-pastoris with diagram. In which family does
it belong? 9+1

(e) Mention the families which show the following feature. Mention at least one more diagnostic character
of each of the families and give one example of each. (atlat1)xS

(i) Persistant calyx

(i) Papilionaceous corolla
(iii) Ray Floret

(iv) Synandrium

(v) Velamen
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